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2. fX)=|X]+2 How does this graph compare to the parent function
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3. f(x) = |X| @ }4\ How does this graph compare to the parent function
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‘ 5 fl&) =+ [x] How does this graph compare to the parent function

6. f(x)=3]x| j a= 7) How does this graph compare to the parent function

3 > 5
Larger He #
/  shianier Hhe

‘ 7-. L F ) =| |x—4] + O How does this graph compare to the parent function

rph H oniks do ligh

X F{xX

el F Veelex(4,0) Si"“g&

-2
=L
0

A"
2
3 |

————
L{

8. fl)=1lx+3]+ 0O How does this graph compare to the parent function
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